struct_immucell_191504176.rvt

HA.corp.ads/191504174/stn_

ALB1_NY_|

8/5/2016 12:11:16 PM

RSN://RS

/2> TYP. BEAM TO COLUMN CONNECTION

S-600-B/ 3/4"=1-0"

/3 _TYP. BEAM TO GIRDER CONNECTION

gll 3"

>

3/ " = 1|_0l|

| ~— 5/8" BOLT 1
W10 \ /(TP |
(:12)(20.?jl \\ | o )
PC WT6X17.5 i \\ | i | /‘" LAX4X1/4 w10 | i WI0————— w10 | 2
114"V N T\\ \ ,{'{ C12X20.7 & F. .
AN ) CAT A S— e _-} _________________ B U o NSO ‘ _____}},4 \ —— " HsSCROSS BRACE
!__ H\O (@] J_Q_ o i e O . | E f E 2 D1 .\
= ‘ | o ofll o 0 o o1 C12GIRT
= E J—-[ < /7/ % < { ff 3 = '/
B am v = 7 e e R i — = ||l < L
LAX4X1/4 12X20.7 1/4" " SLOTTED
LAX4X1/4 ——
CORNER COLUMN INTERMEDIATE COLUMN AT EXPANSION JOINT SECTION TYP. BOLT SPACING
TYP. BRACE &
GIRT INTERSECTION
77\ TYP. GIRT DETAILS
S-600-B/ 3/4"=1-0"
I /¢
METAIL GRATING ~  REFER TO BEAM o | l <
CONNECTION b - | |
\SCHEDULE \1 (TYP) W12X14 |
o o o T \ I 5/8" DIA. THREADED
° e | ROD(TYP.)
W e A jE i ®_wio |
Lo e — [ “— STEEL CLEVIS
||=== “g‘ ___________ (TYP.)
*— (2) 3/4" DIA. A325 1/4" GUSSET & 3
\_BOLTS (TYP) [ PLATE(TYP) el e <& e T L VD
| =g & > 3
| 2 P NS B
“ — 2L3x3x1/4 (TYP.) 4 /f 4
: T
H » L . ——1/2' PLATE
H \L\/\'\\"
316" S wi2x16 —|
" R SR |
A : F- \\\
N
| )J\ N
TYP. @ BEAMS

/10 TYP. KNEE BRACE DETAIL

S-600-B

3/ n - 1I_0ll

316"

/11 TYP. HORIZONATAL BRACING CONNECTION

1 1/2“ = 1|-0ll

/4 GIRT SECTION

S-600-B

/8 TYP. TURNBUCKLE DETAIL /o™ TYP.BRACE INTERSECTION

1l| = 1!_0!1

/5 SAG ROD DETAIL

\

S-600-B

11/2" = 10"
5 & L4x4x3/8
w ©
8 g o >—<TYP
W & 3116 ‘
e = /
L3x3x1/4 (LLV)
+ 3]
5/8" DIA. \
BLOCKING
HOLES (TYP.)
| OPENING + -
_ £
7l -
3 L3x3x1/4 (LLV) *
3 &
ﬂ d
[T
ic J\
L
S E " /
o g L4x4x3/8
NOTE:

DETAIL SHALL OCCUR AT ROOF HATCHES, VENTS,

OR MECHANICAL EQUIPMENT WEIGHING 500 LBS
OR LESS.

/12> _TYP. ROOF OPENING

S-600-8/ 1'=1-0"

EQUIPMENT SUPPORT ROOF FRAMING:

THE GENERAL CONTRACTOR SHALL COORDINATE ALL

ROOF OPENINGS FOR MECHANICAL EQUIPMENT,
HVAC UNITS, CURBS, ROOF HATCHES, SKYLIGHTS,
AND VENTS.

ALL STRUCTURAL CURBS SHALL BEAR DIRECTLY ON
AND BE SECURED TO SUPPORTING STEEL OR
METAL ROOF DECKING SHALL BE REINFORCED WITH
C4x5.4 AT EACH RIB WELDED TO SUPPORTING
STEEL.

CURBS SHALL HAVE BOTTOM FLANGE PROJECTING
BEYOND CURB TO SUPPORT METAL DECK OR
CONTRACTOR SHALL FURNISH L3x3x18 GA. ANGLES.

TOP OF ROOF CURBS SHALL BE LEVEL. VARY
CURB HEIGHT TO MATCH ROOF SLOPE.

S-600-B/  3/4"=1-0"

PREP CUT EDGE
FOR WELDING
AND GRIND
SMOOTH(TYP.)

/& _TYP. CONNECTION SCHEDULE

1 2 3 4 5 7 8 9
STAIR ROOF STAIR ROOF
41'- 0" 41'- 0"
DUNNAGE ) 5 . L DUNNAGE
PLATFORM = < > > PLATFORM
36‘ G On E g E E 36‘ 2 0"
ROOF ROOF
31'- 0" BP-06 BP-06 BP-06 BP-02 31'- 0"
SECOND SECOND
FLOOR 5 " FLOOR
20'- 0" g g § 20'- 0"
=2} @ < =2} (=2 w Por) =] =] [Te) [Te)
3 o = 3 8 2 i 3 2 3 e 2 % & = 5 2 g 3 = 2 @ = 5 =
5 2 2 g 3 3 5 3 5 3 = g 2 2 = = S * 2 3 5 g 2 = = = = = = s 3 = = =
ES S = 2 S 3 = 3 = = = e S S = S 3 = = = = =
= = S = = = = = S
FIRST FLOOR FIRST FLOOR
0" B T il i i B | § i 13 2 5 1 i 1 I I x E A 1 E B BB i E i i B I B 1§ I I £ ¥ I 0"
BP-01C BP-01B BP-01A BP-01A BP.01B BP-01C BP-01B BP-O1D BP-04A BP-04A BP-02A BP-03A BP-03A BP-02A BP-03A BP-04A P-03 BP-05 BP-03 BP-05. | BP.03A BP-04A BP-03C BP-038 BP-03C BP-0AC | BP-02C BP.02B, | BP-048 BP-04D.
T.O. FOOT'NG @_1:_0u @_1|_0u @_1I_0Il @_1|_0u @_1|_0u @_1u_0u @_1|_0ll @_1!_0!! @_1|_0n @_1‘_0“ @_ I'D“ @_1|_0u @_11_ " @_1!_0" @.11_01| @_11_0« 5_19_%" @_1|_0u @_1!_0!& @_1 _0 @_1!_01! @_1!_0! @_1!_0“ @_1|_0u @_1!_0u @_1!_ @_1‘_0‘1 @_1 _0 @_1!_0“ @_1 _0 T.O. FOOT‘NG
(_4!_0“ -4|-0"
Column
Locallerie A-1 A3 A4 A-5 A6 A5-1 A5-6 B-4 B-5 B-6 B.5-3 B.5-4 -1 c-1.9 c-5 D-1 D-2.5 D-3 D4 D-5 D-6 D.4-5 D.5-1 D525 | D625 D.6-3 D.6-3.5 E-2.5 E-3 E-3.5 E-4 E-5 E-6
NOTE:
1. BASE PLATE ELEVATIONS INDICATE
ELEVATION AT BOTTOM OF BASE PLATE.
G EXTENDPLATE AS NECESSARY
© x TOSUPPORT GUSSET PLATE 1 12
1 1 g
2 EXTEND PLATE AS NECESSARY o gl
¢ ¢ I
STEEL COLUMN BASE PLATE SCHEDU LE 1 ,”2u 3 X [ X . _1 1]’2" 1 1'[2u £ I X TQ SUPPORT GUSSET PLA‘I:g,—"] 1]12n 1 1',1 | . X ﬂ1 1! "
1 g 1 y 1 1 1
MARK [LAYOUT | THICKNESS| a b X y | ANCHOR ROD TYPE| EMBEDMENT REMARKS i | ; B
BP-OTA | TYPEA 34 16" 16 | 612 | 512 @ 1" AB. 13 = * o
BPO1B | TYPEB 4" : 14 | 812" | 5112 (6) 314" AB. 13 5 g SEETSEET )
BP-01C | TYPEC 34" i 6172 | 5112 (8) 34" AB. 13 % % L ol
BP-0D | TYPEB I : 1w | 612 | 512 (6) 34" AB. 13" 4 T =
BP-02A | TYPEA i 16" 19 | 812 | 512 (4) 314" AB. 13 o — o | ’(“‘SEE : ASE%LATE SO gl —tmd BEAM CONNECTION
BP-028 | TYPEB 3 . w | 612 | 512 (6) 1" AB. 13 'y 2 4 SCHEDULE
BP-02C | TYPEA 78’ 16" 14 | 612 | 5112 (4) 1"AB, 13" | EUSCERFLAIE i E —— W COLUMN ]
BP-03A | TYPEA 1" 16" 16 | 612 | 612 (4) 34" AB, 13" ol S5 (SEE COLUMN SCHEDULE) e
BP-03B | TYPEB & : 16 | 612 | 612 6) 1" AB. 13" S &
2 . (SEE BASE PLATE SCHEDULE) (SEE BASE PLATE SCHEDULE) £ O - - (SEE BASE PLATE SCHEDULE)
BP-04A | TYPEA B 1614 | 1414' | 638 | 538" (4) 34" AB. 13" e | iy
BP04B | TYPEB i : 1414 | 638 | 538" 6) "AB. 13" 6 W COLUMN W COLUMN o W COLUMN W8, W10 e
BP-04C | TYPEA P 1614 | 1414 | 638 | 538 (&) T'AB. 13 i TYPEA (SEE COLUMN SCHEDULE) TYPEB (SEE COLUMN SCHEDULE) - TYPEC TYPED (SEE COLUMN SCHEDULE) (2) - 34 DIA.
BP-04D TYPEB 1" - 14.1/4" 6 3/8" 53/8" (6)1"A.B. 13" W1 2) W14 (3) 9 3/4“ DIA.
BP05 | TYPEA 11/8" 614 | 16 | 638 | 612 (4) 34" AB, 13 m
BP-06 | TYPED 172 16 | 6112 (4)5/8" DIA. A325 BOLTS i 1 STEEL BASE PLATE SCHEDU LE AND DETAILS W16 (4) - 3/4" DIA
S-600-B/ 1"=1-0"
W18 (5)- 3/4" DIA.
W21 (6) - 3/4" DIA.
, W24 (7)- 3/4" DIA.
BEAM: SEE PLAN w27 (8) - 3/4" DIA.
BEAM: SEE PLAN W30 (9) - 3/4" DIA.
W33 (10) - 3/4" DIA.
7 W36 (11)-3/4" DIA.
e 5 NOTES
B i - . 1. ALL BEAM TO BEAM AND BEAM TO COLUMN CONNECTIONS SHALL
- G 1/4" PLATE
‘\ - - 4 BE MADE WITH DOUBLE L3x3x5/16 GEOMETRIC MINIMUM WITH THE
e OUTSIDE LEGS BOLTED TO BEAM AS SCHEDULED ABOVE, UNLESS
CONDITIONS MANDATE OTHERWISE.
S 316 o
STANDARD AISC DOUBLE ANGLE STANDARD AISC DOUBLE ANGLE
CONNECTION WITH MAXIMUM CONNECTION WITH MAXIMUM ’ ‘\ I 2. ALL BOLTS SHALL BE A325-N.
NUMBER OF 3/4" DIA. A-325 BOLTS NUMBER OF 3/4" DIA. A-325 BOLTS 1/4" PLATE = ST
g 1 PER CONNECTION SCHEDULE PER CONNECTION SCHEDULE /‘ . ) )
- DS——/
5/8" SAG RO ]

Stantec Consulting Services Inc.

3 Columbia Circle Suite é

Albany, NY 12203-5158

Tel:  (518) 452-4358 / Fax:  (518) 452-9234

www.stantec.com

Copyright Reserved

The Confractor shall verify and be responsible for all dimensions. DO
NQOT scale the drawing - any errors or omissions shall be reported to
Stantec without delay.

The Copyrights to all designs and drawings are the property of
Stantec. Reproduction or use for any purpose other than that

authorized by Stantec is forbidden.

Client

ImmucCell

Lot 11 - Second Tee Business Park
1039 Riverside Street
Portland, Maine 04103

Consultants

S-600-8/ 3/4"=1-0"

G COLUMN

TOS ROOF
VARIES

i

<

¢ TOS 2NDFL.
19.7"

&

TIO SLAB
00"

<

NOTE:

1. REFERTO PLANS
AND ELEVATIONS
FOR BEAM AND
BRACING SIZES.

|
|!
N[
2. GIRTS NOT SHOWN.
!
|
|
|

SEE

TYP. TOP &~ N 1
BOTTOM~ 1141”6 D e

ELEVATIONS.

L1112

3/4" GUSSET PLATE. CHAMFER
GUSSET PERPENDICULAR TO
ASSOCIATED HSS SHAPE (TYP.)

HSS MEMBER SHALL NOT
PENETRATE CONCRETE SLAB

EXTEND PLATE AS NECESSARY
TO SUPPORT GUSSET PLATE

!P TIO PIER
A0

/13 _TYP. BRACING CONNECTIONS

BASE PLATE (SEE SCHEDULE)

|+ 2 ANCHOR BOLT (SEE SCHEDULE)

Permit-Seal Wy,

OF ag %
S,
¥ EMe N %

HILLIARD

0 SUPERSTRUCTURE & SHELL - ISSUED FOR 08/05/2016
CONSTRUCTION
Revision DD.MM.YYYY
PACKAGE C - INTERIOR FIT-UP 08.19.2016
PACKAGE B - SUPERSTRUCTURE & SHELL 08.05.2016
PACKAGE A - FOUNDATIONS & BELOW SLAB 07.22.2016
Issued DD.MM.YYYY

Client/Project
IMMUCELL

Lot 11 - Second Tee Business Park
1039 Riverside Street
Portland, Maine 04103

Title

STRUCTURAL SCHEDULES & DETAILS

S-600-B/ 3/4"=1

l_Oll

ORIGINAL SHEET - ANSI E [34'x44")

Project No. Scale
191504176 As indicated
Revision Drawing No.

0

$-600-B




